

DEGENERATE r -STIRLING GENOCCHI POLYNOMIALS

SI HYEON LEE

ABSTRACT. Degenerate exponential functions have extended the study of many types of polynomials. In particular, in this paper, we introduce the degenerate version of the r -Stirling Genocchi polynomials. This construction is based on the r -Stirling Genocchi polynomials, recently studied by Roberto and Bernard. This study aims to combine these polynomials in a degenerate exponential function to the mathematical understanding and explore new properties and potential applications of these extended polynomials.

1. INTRODUCTION

In [2], first of all, L. Carlitz studied the concept of degenerate exponential functions which many researchers have used to study various polynomials and numbers.

It is well known that the unsigned Stirling numbers of the first kind, denoted by $\left[\begin{smallmatrix} n \\ k \end{smallmatrix} \right]$, count the number of permutations of the set $\{1, 2, \dots, n\}$ with exactly k disjoint cycles. Similarly, the Stirling numbers of the second kind, denoted by $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}$, count the number of ways to partition the set $\{1, 2, \dots, n\}$ into k nonempty subsets (see[3],[4],[10]). From unsigned Stirling numbers of the first kind and Stirling numbers of the second kind, many researchers have used this to extend, especially the unsigned r -Stirling numbers of the first kind $\left[\begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]$ and r -Stirling numbers of the second kind $\left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}$ (see[1],[5],[7],[9]). The degenerate unsigned r -Stirling numbers of the first kind $\left[\begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]_{r,\lambda}$ and the degenerate r -Stirling numbers of the second kind $\left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}_{r,\lambda}$ have been studied by Kim-Kim-Lee-Park (see[7]). In [5], Roberto Corcino et al. studied SM r -Stirling numbers, and in an extension of this, in [6], Roberto Vernard studied r -Stirling Genocchi polynomials. From r -Stirling Genocchi polynomials, we consider degenerate r -Stirling Genocchi polynomials. Based on previous studies, we focused on introducing the first kind degenerate r -Stirling Genocchi polynomial and the second kind degenerate r -Stirling Genocchi polynomial and obtaining their properties.

The outline of the paper is as follows. In section 1, we recall the degenerate exponential function and the degenerate logarithm function. we conjure unsigned degenerate Stirling numbers of the first kind and r -Stirling numbers of the first kind. We also remind the degenerate Stirling numbers of the second kind and r -Stirling numbers of the second kind. we recall Euler, Genocchi, Bernoulli polynomials and their higher-order α . In sections 2 and 3, we introduce the first kind degenerate r -Stirling Genocchi polynomials and the second kind degenerate r -Stirling Genocchi polynomials. In Theorem 1,4,10, we get known identities. In Theorem 2, we obtain an expression for $SG_{n,\lambda}^1(x,k,r)$. In Theorem 3, we get an expression for $SG_{n,\lambda}^1(x+1,k,r)$ with unsigned degenerate r -Stirling numbers of the first kind and degenerate Euler number. In Theorem 6, we have an expression of $SG_{n,\lambda}^2(x,k,r)$. In Theorem 7, from degenerate r -Stirling Genocchi polynomials, we get an

identities $G_{m,\lambda}(x+r)\{n-m\}_\lambda = G_{m,\lambda}\{n-m+r\}_{r,\lambda}$. In Theorem 8, we get an expression of $2(k+1)\binom{n}{k+1}(r)_{n-(k+1),\lambda}$. In Theorem 9, we obtain identities for $SG_{n,\lambda}^2(x,k,r)$. In Theorem 11, we get an identities of $SG_{n,\lambda}^{(2,\alpha)}(x,k,r)$.

The degenerate exponential function defined by

$$(1) \quad e_\lambda^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see}[1, 7-18]).$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x-\lambda)\cdots(x-(n-1)\lambda)$, $(n \geq 1)$ is degenerate falling factorial sequence.

The degenerate rising factorial sequence is defined by

$$(2) \quad \langle x \rangle_{0,\lambda} = 1 \quad \langle x \rangle_{n,\lambda} = x(x+\lambda)\cdots(x+(n-1)\lambda), \quad (n \geq 1), \quad (\text{see}[18]).$$

The degenerate logarithm function is compositional inverse of $e_\lambda(t)$ which is defined by Kim-Kim

$$(3) \quad \log_\lambda(1+t) = \sum_{n=1}^{\infty} \lambda^{n-1} (1)_{n,\frac{1}{\lambda}} \frac{t^n}{n!} = \frac{1}{\lambda} ((1+t)^\lambda - 1), \quad (\text{see}[8, 15]).$$

From (3), we note that

$$(4) \quad e_\lambda(\log_\lambda(1+t)) = \log_\lambda(e_\lambda(1+t)) = 1+t.$$

In [7], Kim-kim-Lee-Park studied the unsigned degenerate Stirling numbers of the first kind and r -Stirling numbers of the first kind generating function respectively given by

$$(5) \quad \frac{(-\log_\lambda(1-t))^k}{k!} = \sum_{n=k}^{\infty} \left[\begin{matrix} n \\ k \end{matrix} \right]_\lambda \frac{t^n}{n!},$$

$$\left(\frac{1}{1-t} \right)^r \frac{(-\log_\lambda(1-t))^k}{k!} = \sum_{n=k}^{\infty} \left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} \frac{t^n}{n!}. \quad (\text{see}[7, 8, 9, 10, 16]).$$

The degenerate Stirling numbers of the second kind and r -Stirling numbers of the second kind which are also given by Kim-Kim-Lee-Park

$$(6) \quad \frac{(e_\lambda(t)-1)^k}{k!} = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda \frac{t^n}{n!},$$

$$\frac{(e_\lambda(t)-1)^k}{k!} e_\lambda^r(t) = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!}, \quad (\text{see}[7, 8, 9, 10, 16]).$$

The degenerate Genocchi polynomials are defined by

$$(7) \quad \frac{2t}{e_\lambda(t)+1} e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see}[11, 13, 14]).$$

when $x=0$, $G_{n,\lambda}(0) = G_{n,\lambda}$ are called degenerate Genocchi numbers.

The degenerate Genocchi polynomials of higher order given by

$$(8) \quad \left(\frac{2t}{e_\lambda(t)+1} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}, \quad (\text{see}[11, 13, 14]).$$

when $x=0$, $G_{n,\lambda}^{(\alpha)}(0) = G_{n,\lambda}^{(\alpha)}$ are called degenerate Genocchi numbers of higher-order α .

The degenerate Bernoulli polynomials of higher-order α are defined by

$$(9) \quad \left(\frac{t}{e_\lambda(t) - 1} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} B_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}, \quad (\text{see}[11, 12, 15, 17]).$$

when $x = 0$, $B_{n,\lambda}^{(\alpha)}(0) = B_{n,\lambda}^{(\alpha)}$ are called Bernoulli numbers of higher-order α .

In particular, when $\alpha = 1$, $B_{n,\lambda}(x) = B_{n,\lambda}^{(1)}(x)$ are called Bernoulli polynomials.

The degenerate Euler polynomials are given by

$$(10) \quad \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see}[11, 12, 15, 17]).$$

when $x = 0$, $E_{n,\lambda}(0) = E_{n,\lambda}$ are called Euler number.

The degenerate Euler polynomials of higher order are defined by

$$(11) \quad \left(\frac{2}{e_\lambda(t) + 1} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} E_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}, \quad (\text{see}[11, 12, 15]).$$

when $x = 0$, $E_{n,\lambda}^{(\alpha)}(0) = E_{n,\lambda}^{(\alpha)}$ are called Euler number of higher order.

The r -Stirling Genocchi polynomials given by Roberto-Vernard

$$(12) \quad \left(\frac{1}{1+t} \right)^r \frac{2te^{xt} \log(1+t)^k}{k!(e^t + 1)} = \sum_{n=0}^{\infty} SG_n^1(x; k; r) \frac{t^n}{n!},$$

$$\frac{2te^{xt} e^{rt} (e^t - 1)^k}{k!(e^t + 1)} = \sum_{n=0}^{\infty} SG_n^2(x; k; r) \frac{t^n}{n!}. \quad (\text{see}[5, 6]).$$

2. DEGENERATE r -STIRLING GENOCCHI POLYNOMIALS OF THE FIRST KIND

In this section, we consider the first kind degenerate r -Stirling Genocchi polynomials which are given by

$$(13) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^1(x, k, r) \frac{t^n}{n!} = \left(\frac{1}{1-t} \right)^r \frac{2t(-\log_\lambda(1-t))^k}{k!(e_\lambda(t) + 1)} e_\lambda^x(t).$$

When $x = 0$, $SG_{n,\lambda}^1(0, k, r) = SG_{n,\lambda}^1(k, r)$ are called r -Stirling Genocchi numbers of the first kind.

From (13), we get

$$(14) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^1(x, k, r) \frac{t^n}{n!} = \sum_{m=0}^{\infty} (x)_{m,\lambda} \frac{t^m}{m!} \sum_{l=0}^{\infty} SG_{l,\lambda}^1(k, r) \frac{t^l}{l!}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} (x)_{m,\lambda} SG_{n-m,\lambda}^1(k, r) \frac{t^n}{n!}.$$

Thus, we have the following theorem.

Theorem 1. For $n, k, r \geq 0$, we have

$$SG_{n,\lambda}^1(x, k, r) = \sum_{m=0}^n \binom{n}{m} (x)_{m,\lambda} SG_{n-m,\lambda}^1(k, r).$$

From (3) and (13), we get

$$\begin{aligned}
 (15) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^1(x, k, r) \frac{t^n}{n!} &= \frac{2t(-\log(1-t))^k}{k!(e_\lambda(t)-1)} e_\lambda^x(t) e_\lambda^{-r}(\log_\lambda(1-t)) \\
 &= \sum_{k=0}^{\infty} (-r)_{k,\lambda} \frac{(\log_\lambda(1-t))^k}{k!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \sum_{i=0}^{\infty} SG_{i,\lambda}^1(k, r) \frac{t^i}{i!} \\
 &= \sum_{i=0}^{\infty} SG_{i,\lambda}^1(k, r) \frac{t^i}{i!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \sum_{k=0}^{\infty} \langle r \rangle_{k,\lambda} \sum_{j=k}^{\infty} \begin{bmatrix} j \\ k \end{bmatrix}_\lambda \frac{t^j}{j!} \\
 &= \sum_{i=0}^{\infty} SG_{i,\lambda}^1(k, r) \frac{t^i}{i!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \sum_{j=0}^{\infty} \sum_{k=0}^j \langle r \rangle_{k,\lambda} \begin{bmatrix} j \\ k \end{bmatrix}_\lambda \frac{t^j}{j!} \\
 &= \sum_{i=0}^{\infty} SG_{i,\lambda}^1(k, r) \frac{t^i}{i!} \sum_{m=0}^{\infty} \sum_{j=0}^m \sum_{k=0}^j \binom{m}{j} (x)_{m-j,\lambda} \langle r \rangle_{k,\lambda} \begin{bmatrix} m-l \\ k \end{bmatrix}_\lambda \frac{t^m}{m!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \sum_{j=0}^m \sum_{k=0}^j \binom{n}{m} \binom{m}{j} (x)_{m-j,\lambda} \langle r \rangle_{k,\lambda} \begin{bmatrix} m-l \\ k \end{bmatrix}_\lambda SG_{n-m,\lambda}^1(k, r) \frac{t^n}{n!}.
 \end{aligned}$$

where $\langle r \rangle_{k,\lambda}$ are degenerate rising factorial sequence.

Thus, by comparing the coefficients on both sides of (15), we have the following theorem.

Theorem 2. For $n, m, k \geq 0$, we have

$$SG_{n,\lambda}^1(x, k, r) = \sum_{m=0}^n \sum_{j=0}^m \sum_{k=0}^j \binom{n}{m} \binom{m}{j} (x)_{m-j,\lambda} \langle r \rangle_{k,\lambda} \begin{bmatrix} m-l \\ k \end{bmatrix}_\lambda SG_{n-m,\lambda}^1(k, r).$$

From (13), we have

$$\begin{aligned}
 (16) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^1(x+1, k, r) \frac{t^n}{n!} &= \left(\frac{1}{1-t} \right)^r \frac{2t(-\log_\lambda(1-t))^k}{k!(e_\lambda(t)+1)} e_\lambda^{x+1}(t) \\
 &= \left(\frac{1}{1-t} \right)^r \frac{2t(-\log_\lambda(1-t))^k}{k!} e_\lambda^x(t) \left(1 - \frac{1}{e_\lambda(t)+1} \right) \\
 &= 2t \sum_{m=k}^{\infty} \begin{bmatrix} m+r \\ k+r \end{bmatrix}_{r,\lambda} \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} - t \sum_{m=k}^{\infty} \begin{bmatrix} m+r \\ k+r \end{bmatrix}_{r,\lambda} \frac{t^m}{m!} \sum_{l=0}^{\infty} E_{l,\lambda} \frac{t^l}{l!} \\
 &= 2t \sum_{n=k}^{\infty} \sum_{l=0}^n \binom{n}{m} \begin{bmatrix} n-l+r \\ k+r \end{bmatrix}_{r,\lambda} (x)_{l,\lambda} \frac{t^n}{n!} - t \sum_{n=k}^{\infty} \sum_{l=0}^n \binom{n}{l} \begin{bmatrix} n-l+r \\ k+r \end{bmatrix}_{r,\lambda} E_{l,\lambda} \frac{t^n}{n!} \\
 &= \sum_{n=k+1}^{\infty} \sum_{l=0}^{n-1} 2n \binom{n-1}{l} \begin{bmatrix} n-1-l+r \\ k+r \end{bmatrix}_{r,\lambda} (x)_{l,\lambda} \frac{t^n}{n!} - \sum_{n=k+1}^{\infty} \sum_{l=0}^{n-1} n \binom{n-1}{l} \begin{bmatrix} n-1-l+r \\ k+r \end{bmatrix}_{r,\lambda} E_{l,\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients of both sides of (16), we have the following theorem.

Theorem 3. For $n \geq k+1$, we have

$$SG_{n,\lambda}^1(x+1, k, r) = \sum_{l=0}^{n-1} \left(n \binom{n-1}{l} \begin{bmatrix} n-1-l+r \\ k+r \end{bmatrix}_{r,\lambda} (2(x)_{l,\lambda} - E_{l,\lambda}) \right) \frac{t^n}{n!}.$$

Now, we consider degenerate r -Stirling Genocchi polynomials of the first kind of higher-order α which are given by

$$(17) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^{(1,\alpha)}(x,k,r) \frac{t^n}{n!} = \left(\frac{1}{1-t} \right)^r \left(\frac{2t}{e_\lambda(t)+1} \right)^\alpha \frac{(-\log_\lambda(1-t))^k e_\lambda^x(t)}{k!}.$$

From (17), we have

$$(18) \quad \begin{aligned} \sum_{n=0}^{\infty} SG_{n,\lambda}^{(1,\alpha)}(x,k,r) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} G_{m,\lambda}^{(\alpha)}(x) \frac{t^m}{m!} \sum_{l=0}^{\infty} \left[\begin{matrix} l \\ k \end{matrix} \right]_\lambda \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} G_{m,\lambda}^{(\alpha)}(x) \left[\begin{matrix} n-m \\ k \end{matrix} \right]_\lambda \frac{t^n}{n!}. \end{aligned}$$

Thus, we have the following theorem.

Theorem 4. For $n, k \geq 0$, we have

$$SG_{n,\lambda}^{(1,\alpha)}(x,k,r) = \sum_{m=0}^n \binom{n}{m} G_{m,\lambda}^{(\alpha)}(x) \left[\begin{matrix} n-m \\ k \end{matrix} \right]_\lambda.$$

From (17), when $r = \alpha$, we get

$$(19) \quad \begin{aligned} \sum_{n=0}^{\infty} SG_{n,\lambda}^{(1,r)}(x,k,r) \frac{t^n}{n!} &= \left(\frac{2}{e_\lambda(t)+1} \right)^r e_\lambda^x(t) \sum_{m=0}^{\infty} \left[\begin{matrix} m \\ k \end{matrix} \right]_\lambda \frac{t^m}{m!} \left(\frac{t}{1-t} \right)^r \\ &= \sum_{i=0}^{\infty} E_{i,\lambda}^{(r)}(x) \frac{t^i}{i!} \sum_{m=0}^{\infty} \left[\begin{matrix} m \\ k \end{matrix} \right]_\lambda \frac{t^m}{m!} \sum_{l=r}^{\infty} \binom{l-1}{r-1} t^l \\ &= \sum_{i=0}^{\infty} E_{i,\lambda}^{(r)}(x) \frac{t^i}{i!} \sum_{j=r}^{\infty} \sum_{m=0}^j (j)_m \left[\begin{matrix} m \\ k \end{matrix} \right]_\lambda \binom{j-m-1}{r-1} \frac{t^j}{j!} \\ &= \sum_{n=r}^{\infty} \sum_{j=0}^n \sum_{m=0}^j \binom{n}{j} \binom{j-m-1}{r-1} (j)_m \left[\begin{matrix} m \\ k \end{matrix} \right]_\lambda E_{n-j,\lambda}^{(r)}(x) \frac{t^n}{n!}. \end{aligned}$$

By comparing the coefficients on both side of (19), we have the following theorem.

Theorem 5. For $r = \alpha$, $n \geq r$, we have

$$SG_{n,\lambda}^{(1,r)}(x,k,r) = \sum_{j=0}^n \sum_{m=0}^j \binom{n}{j} \binom{j-m-1}{r-1} (j)_m \left[\begin{matrix} m \\ k \end{matrix} \right]_\lambda E_{n-j,\lambda}^{(r)}(x).$$

3. DEGENERATE r -STIRLING GENOCCHI POLYNOMIALS OF THE SECOND KIND

Now, we consider the second kind degenerate r -Stirling Genocchi polynomials which are given by

$$(20) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^2(x,k,r) \frac{t^n}{n!} = \frac{2t(e_\lambda(t)-1)^k}{k!(e_\lambda(t)+1)} e_\lambda^{x+r}(t).$$

When $x = 0$, $SG_{n,\lambda}^2(0,k,r) = SG_{n,\lambda}^2(k,r)$ are called r -Stirling Genocchi numbers of the second kind.

From (20), we have

$$\begin{aligned}
 (21) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^2(x, k, r) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} (x+r)_{m,\lambda} \frac{t^m}{m!} \sum_{l=0}^{\infty} G_{l,\lambda} \frac{t^l}{l!} \sum_{i=k}^{\infty} \left\{ \begin{matrix} i \\ k \end{matrix} \right\}_{\lambda} \frac{t^i}{i!} \\
 &= \sum_{m=0}^{\infty} (x+r)_{n,\lambda} \frac{t^m}{m!} \sum_{j=k}^{\infty} \sum_{l=0}^j \binom{j}{l} G_{l,\lambda} \left\{ \begin{matrix} j-l \\ k \end{matrix} \right\}_{\lambda} \frac{t^j}{j!} \\
 &= \sum_{n=k}^{\infty} \sum_{j=0}^n \sum_{l=0}^j \binom{n}{j} \binom{j}{l} (x+r)_{n-j,\lambda} G_{l,\lambda} \left\{ \begin{matrix} j-l \\ k \end{matrix} \right\}_{\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

Thus, we have the following theorem.

Theorem 6. For $n \geq k$, we have

$$SG_{n,\lambda}^2(x, k, r) = \sum_{j=0}^n \sum_{l=0}^j \binom{n}{j} \binom{j}{l} (x+r)_{n-j,\lambda} G_{l,\lambda} \left\{ \begin{matrix} j-l \\ k \end{matrix} \right\}_{\lambda}.$$

From (21), we have

$$\begin{aligned}
 (22) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^2(x, k, r) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} G_{m,\lambda}(x+r) \frac{t^m}{m!} \sum_{l=0}^{\infty} \left\{ \begin{matrix} l \\ k \end{matrix} \right\}_{\lambda} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} G_{m,\lambda}(x+r) \left\{ \begin{matrix} n-m \\ k \end{matrix} \right\}_{\lambda} \frac{t^n}{n!},
 \end{aligned}$$

and

$$\begin{aligned}
 (23) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^2(x, k, r) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} G_{m,\lambda} \frac{t^m}{m!} \sum_{l=0}^{\infty} \left\{ \begin{matrix} l+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} G_{m,\lambda} \left\{ \begin{matrix} n-m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, we obtain the following theorem.

Theorem 7. For $n, m \geq 0$, we have

$$G_{m,\lambda}(x+r) \left\{ \begin{matrix} n-m \\ k \end{matrix} \right\}_{\lambda} = G_{m,\lambda} \left\{ \begin{matrix} n-m+r \\ k+r \end{matrix} \right\}_{r,\lambda}.$$

From (20), we have

$$\begin{aligned}
 (24) \quad & \sum_{n=0}^{\infty} (r)_{n,\lambda} \frac{t^n}{n!} = \frac{k!(e_\lambda(t) + 1)}{2t(e_\lambda(t) - 1)^k} \sum_{m=0}^{\infty} SG_{n,\lambda}^2(x, k, r) \frac{t^n}{n!} \\
 &= \frac{k!e_\lambda(t)}{2t(e_\lambda(t) - 1)^k} \sum_{m=0}^{\infty} SG_{m,\lambda}^2(x, k, r) \frac{t^m}{m!} + \frac{k!}{2t(e_\lambda(t) - 1)^k} \sum_{m=0}^{\infty} SG_{m,\lambda}^2(x, k, r) \frac{t^m}{m!} \\
 &= \frac{k!}{2t(e_\lambda(t) - 1)^k} \sum_{l=0}^{\infty} (1)_{l,\lambda} \frac{t^l}{l!} \sum_{m=0}^{\infty} SG_{m,\lambda}^2(k, r) \frac{t^m}{m!} + \frac{k!}{2t(e_\lambda(t) - 1)^k} \sum_{m=0}^{\infty} SG_{m,\lambda}^2(k, r) \frac{t^m}{m!} \\
 &= \frac{k!}{2t^{k+1}} \sum_{i=0}^{\infty} B_{i,\lambda}^{(k)} \frac{t^i}{i!} \left(\sum_{j=0}^{\infty} \sum_{m=0}^j \binom{j}{m} (1)_{n-m,\lambda} SG_{m,\lambda}^2(x, k, r) + \sum_{m=0}^{\infty} SG_{m,\lambda}^2(x, k, r) \frac{t^m}{m!} \right) \\
 &= \frac{k!}{2t^{k+1}} \sum_{n=0}^{\infty} \left(\sum_{j=0}^n \sum_{m=0}^j \binom{n}{m} \binom{j}{m} (1)_{n-m,\lambda} SG_{m,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} + \sum_{i=0}^n \binom{n}{i} SG_{n-i,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} \right) \frac{t^n}{n!}.
 \end{aligned}$$

By multiplying both sides of (24) by $\frac{2t^{k+1}}{k!}$, we have the left hand side of (24) as follows.

$$\begin{aligned}
 (25) \quad & \frac{2t^{k+1}}{k!} \sum_{n=0}^{\infty} (r)_{n,\lambda} \frac{t^{n+k+1}}{n!} = \frac{2}{k!} \sum_{n=k+1}^{\infty} (r)_{n-(k+1)} \frac{t^n}{(n-(k+1))!} \\
 &= \sum_{n=k+1}^{\infty} 2(r)_{n-(k+1),\lambda} \frac{n!}{k!(n-(k+1))!} \frac{t^n}{n!} \\
 &= \sum_{n=k+1}^{\infty} 2(k+1) \binom{n}{k+1} (r)_{n-(k+1),\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

and multiplying the right hand side of (24) by $\frac{2t^{k+1}}{k!}$, we get

$$\sum_{n=0}^{\infty} \left(\sum_{j=0}^n \sum_{m=0}^j \binom{n}{m} \binom{j}{m} (1)_{n-m,\lambda} SG_{m,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} + \sum_{i=0}^n \binom{n}{i} SG_{n-i,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} \right) \frac{t^n}{n!}.$$

By comparing the coefficients of both sides of (25) and (26), we have the following theorem.

Theorem 8. For $n, k \geq 0$, $n \geq k+1$, we have

$$\begin{aligned}
 & 2(k+1) \binom{n}{k+1} (r)_{n-(k+1),\lambda} \\
 &= \left(\sum_{j=0}^n \sum_{m=0}^j \binom{n}{m} \binom{j}{m} (1)_{n-m,\lambda} SG_{m,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} + \sum_{i=0}^n \binom{n}{i} SG_{n-i,\lambda}^2(x, k, r) B_{i,\lambda}^{(k)} \right).
 \end{aligned}$$

From (20), we have

(26)

$$\begin{aligned}
 \sum_{n=0}^{\infty} SG_{n,\lambda}^2(x, k, r) \frac{t^n}{n!} &= \frac{2t(-\log_{\lambda}(1-t))^k (e_{\lambda}(t) - 1)}{k!(e_{\lambda}(t) + 1)} \frac{(e_{\lambda}(t) - 1)}{(e_{\lambda}(t) - 1)} e_{\lambda}^{x+r}(t) \\
 &= 2(e_{\lambda}^{x+r+1}(t) - e_{\lambda}^{x+r}(t)) \sum_{m=0}^{\infty} \sum_{p=1}^{\infty} (-1)^m \lambda^m t^m \binom{\frac{2p}{\lambda} + m - 1}{m} \sum_{j=k}^{\infty} \left[\begin{matrix} j \\ k \end{matrix} \right]_{\lambda} \frac{t^j}{j!} \\
 &= 2 \left(\sum_{i=0}^{\infty} (x+r+1)_{i,\lambda} - (x+r)_{i,\lambda} \right) \frac{t^i}{i!} \sum_{m=0}^{\infty} \sum_{p=1}^{\infty} (-1)^m \lambda^m \binom{\frac{2p}{\lambda} + m - 1}{m} t^m \sum_{l=k}^{\infty} \left[\begin{matrix} l \\ k \end{matrix} \right]_{\lambda} \frac{t^l}{l!} \\
 &= 2 \left(\sum_{i=0}^{\infty} (x+r+1)_{i,\lambda} - (x+r)_{i,\lambda} \right) \frac{t^i}{i!} \sum_{j=k}^{\infty} \sum_{m=0}^j \sum_{p=1}^{\infty} \binom{\frac{2p}{\lambda} + m - 1}{m} (-1)^m \lambda^m (j)_m \left[\begin{matrix} j-m \\ k \end{matrix} \right]_{\lambda} t^j \\
 &= 2 \sum_{n=k}^{\infty} \sum_{j=0}^n \sum_{m=0}^j \sum_{p=1}^{\infty} (n)_j ((x+r+1)_{n-j,\lambda} - (x+r)_{n-j,\lambda}) \binom{\frac{2p}{\lambda} + m - 1}{m} (-1)^m \lambda^m (j)_m \left[\begin{matrix} j-m \\ k \end{matrix} \right]_{\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

Thus, we have following theorem.

Theorem 9. For $n \geq k$, we have

$$\begin{aligned}
 SG_{n,\lambda}^2(x, k, r) &= 2 \sum_{j=0}^n \sum_{m=0}^j \sum_{p=1}^{\infty} (n)_j ((x+r+1)_{n-j,\lambda} - (x+r)_{n-j,\lambda}) \binom{\frac{2p}{\lambda} + m - 1}{m} (-1)^m \lambda^m (j)_m \left[\begin{matrix} j-m \\ k \end{matrix} \right]_{\lambda}.
 \end{aligned}$$

Now, we consider degenerate r -Stirling Genocchi polynomials of the second kind of higher order α which are given by

$$(27) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^{(2,\alpha)}(x, k, r) \frac{t^n}{n!} = \left(\frac{2t}{e_{\lambda}(t) + 1} \right)^{\alpha} \frac{(e_{\lambda}(t) - 1)^k e_{\lambda}^{x+r}(t)}{k!}.$$

when $x = 0$ $SG_{n,\lambda}^{(2,\alpha)}(0, k, r) = SG_{n,\lambda}^{(2,\alpha)}(k, r)$ are called degenerate r -Stirling Genocchi numbers of the second kind of higher-order.

From (27), we get

$$\begin{aligned}
 (28) \quad \sum_{n=0}^{\infty} SG_{n,\lambda}^{(2,\alpha)}(x, k, r) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} G_{m,\lambda}^{(\alpha)}(x+r) \sum_{l=0}^{\infty} \left\{ \begin{matrix} l \\ k \end{matrix} \right\}_{\lambda} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} G_{m,\lambda}^{(\alpha)}(x+r) \left\{ \begin{matrix} n-m \\ k \end{matrix} \right\}_{\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

Thus, we get the following theorem.

Theorem 10. For $n, k \geq 0$, we have

$$SG_{n,\lambda}^{(2,\alpha)}(x, k, r) = \sum_{m=0}^n \binom{n}{m} G_{m,\lambda}^{(\alpha)}(x+r) \left\{ \begin{matrix} n-m \\ k \end{matrix} \right\}_{\lambda}.$$

From (27), we have

(29)

$$\begin{aligned} \sum_{n=0}^{\infty} SG_{n,\lambda}^{(2,\alpha)}(x,k,r) \frac{t^n}{n!} &= \left(\frac{2t}{e_{\lambda}(t)+1} \right)^{\alpha} \frac{(e_{\lambda}(t)-1)^k e_{\lambda}^{x+r}(t)}{k!} \\ &= \left(\frac{2t}{e_{\lambda}(t)+1} \right)^{\alpha} \frac{(e_{\lambda}(t)-1)^{k+\alpha}}{k! (e_{\lambda}(t)-1)^{\alpha}} e_{\lambda}^{x+r}(t) \\ &= (k)_{\alpha} \left(\frac{2}{e_{\lambda}(t)+1} \right)^{\alpha} \left(\frac{t}{e_{\lambda}(t)-1} \right)^{\alpha} e_{\lambda}^x(t) \sum_{m=0}^{\infty} \left\{ \begin{matrix} m+r \\ k+\alpha+r \end{matrix} \right\}_{r,\lambda} \frac{t^m}{m!} \\ &= (k)_{\alpha} \sum_{l=0}^{\infty} E_{l,\lambda}^{(\alpha)}(x) \frac{t^l}{l!} \sum_{i=0}^{\infty} B_{i,\lambda}^{(\alpha)} \frac{t^i}{i!} \sum_{m=0}^{\infty} \left\{ \begin{matrix} m+r \\ k+\alpha+r \end{matrix} \right\}_{r,\lambda} \frac{t^m}{m!} \\ &= (k)_{\alpha} \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=0}^j \binom{n}{j} \binom{j}{l} \left\{ \begin{matrix} n-j+r \\ k+\alpha+r \end{matrix} \right\}_{r,\lambda} E_{l,\lambda}^{(\alpha)}(x) B_{i,\lambda}^{(\alpha)} \frac{t^n}{n!}. \end{aligned}$$

Thus, we obtain the following theorem.

Theorem 11. For $n \geq \alpha$, we have

$$SG_{n,\lambda}^{(2,\alpha)}(x,k,r) = (k)_{\alpha} \sum_{j=0}^n \sum_{l=0}^j \binom{n}{j} \binom{j}{l} \left\{ \begin{matrix} n-j+r \\ k+\alpha+r \end{matrix} \right\}_{r,\lambda} E_{l,\lambda}^{(\alpha)}(x) B_{i,\lambda}^{(\alpha)}.$$

4. CONCLUSION

The generating functions of special polynomials play an important role in finding their characteristics. Furthermore, we can easily approach finding the properties of the degenerate version by grafting this generating function onto the degenerate exponential function. In this paper, we studied the degenerate versions of the r -Stirling Genocchi polynomials and derived their properties. By using other polynomials, such as degenerate Bernoulli polynomials, degenerate Bernoulli polynomials of higher-order α , degenerate Euler polynomials and degenerate Euler polynomials of higher-order, we can express r -Stirling Genocchi polynomials. We will continue this research in the future and try to apply it to other studies.

REFERENCES

- [1] Broder, A. Z. (1984). The r -Stirling numbers. Discrete Mathematics, 49(3), 241-259.
- [2] Carlitz, L. (1979). Degenerate Stirling, Bernoulli and Eulerian numbers. Util. Math, 15, 51-88.
- [3] Carlitz, L. (1980). Weighted Stirling numbers of the first and second kind—I. The Fibonacci Quarterly, 18(2), 147-162.
- [4] Carlitz, L. (1980). Weighted Stirling numbers of the first and second kind—II. The Fibonacci Quarterly, 18(3), 242-257.
- [5] Corcino, R., Dechosa, V., Coronel, R., Deveraturda, V. M. (2023). The SM r -Stirling Numbers: An Algebraic Approach. CNU-JOURNAL OF HIGHER EDUCATION, 17, 1-14.
- [6] Dechosa, V., Corcino, R. B. (2025). The r -Stirling Genocchi Numbers. European Journal of Pure and Applied Mathematics, 18(2), 6202-6202.
- [7] Kim, T., Kim, D. S., Lee, H., Park, J. W. (2020). A note on degenerate r -Stirling numbers. Journal of Inequalities and Applications, 2020, 1-12.
- [8] Kim, T., Yao, Y., Kim, D. S., Jang, G. W. (2018). Degenerate r -Stirling numbers and r -Bell polynomials. Russian Journal of Mathematical Physics, 25, 44-58.
- [9] Kim, T., Kim, D. S., Kwon, J., Lee, H., LEE, H. (2022, April). Some identities involving degenerate r -stirling numbers. In Proceedings of the Jangjeon Mathematical Society (Vol. 25, No. 2, pp. 245-252).

- [10] Kim, T., Kim, D.S. Kwon, H.I. A note on degenerate Stirling numbers and their applications. *Proc. Jangjeon Math. Soc.* 2018, 21, 195–203.
- [11] Kim, T., San Kim, D., Kim, H. K. (2023). On generalized degenerate Euler–Genocchi polynomials. *Applied Mathematics in Science and Engineering*, 31(1), 2159958.
- [12] Kim, T., Kim, D. S., Kim, W., Kwon, J. (2024). Some identities related to degenerate Bernoulli and degenerate Euler polynomials. *Mathematical and Computer Modelling of Dynamical Systems*, 30(1), 882–897.
- [13] Lim, D. (2016). Some identities of degenerate Genocchi polynomials. *Bulletin of the Korean Mathematical Society*, 53(2), 569–579.
- [14] Kim, T., San Kim, D., Kwon, J., Park, S. H. (2022). Representation by degenerate Genocchi polynomials. *Journal of Mathematics*, 2022(1), 2339851.
- [15] Kim, D. S., Kim, T. (2020). A note on a new type of degenerate Bernoulli numbers. *Russian Journal of Mathematical Physics*, 27, 227–235.
- [16] Kim, T., Yao, Y., Kim, D. S. Jang, G. W. (2018). Degenerate r -Stirling numbers and r -Bell polynomials. *Russian Journal of Mathematical Physics*, 25, 44–58.
- [17] Kim, T., Kim, D. S. (2024). Probabilistic Bernoulli and Euler polynomials. *Russian Journal of Mathematical Physics*, 31(1), 94–105.
- [18] Kim, T., Kim, D. S. (2022). Degenerate Whitney numbers of first and second kind of Dowling lattices. *Russian Journal of Mathematical Physics*, 29(3), 358–377.

Submission date: 2025.07.16

KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

Email address: ugug11@naver.com